feraer yawr e v e
_. [ERILIT Emfnﬁqﬁ’rmm AT, 2023
YU THRR—1 TRarae yewr o—erfee FrommEel (aenfe) - |
T 3 B _' ToT{e:100
e (1)a‘g—cfrfrram=raﬁﬁr{|wﬂmﬂ’i$mwm)%|W§TWW%| |

Tog—1 ﬁmﬁwﬁwﬁa/wmaﬁ!

(1) wEE= g fwe g@ad

(2) Tew-9% g &w Ry

(3) Yeadic Rife @ arivrite Rk |

(4) STy WHV-TE SN R B ulsar ( 4x5=20 'ai'—cﬁ)

Yeg—2 .-‘i— AR, 2T T 3T Repls @1 a1 aaiavd & wed Pl Iread (update) wT @I
vl @ Soor | T uRRRRE ¥ g o amawm € ¥ (o siw)

s SR afe ® 89§ GEgeiee @ 9 - 3 R @ s iy o
& | URF T Ioela PN | | | (20 aTs) -

T4 - ORd AfeRg @ qET Fmd o9 89 W aue ¥ Pered @ e a7
Jooi o8 | g EmRdl 3 aR g &7 S @Y | (20'#5)

GI—5 TR UaT &7 ooy B | NHT TN T G TR fiaw W T |
(20 ercﬁ)

TI—6 sgrcicbmmqlqumﬂﬁﬁmiﬁrmaﬁ[ﬁﬁﬁwﬁﬁaﬂaaﬁaﬂﬁﬁ%aﬂ#
Bg BT W SRR TIGT B G e aTd 2 | (20 3%)
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* Departmental K_anﬁngo Examination , April, 2023,
favmif aﬂ:gw“{ e | andid, 2023
| No reference book/Bare Act is allowed

Paper no, 2 Settlement Manual and Mensuratlon - Maximum Marks: 100

YR TR 2, Wew A Agere v wwrEe | | Time: 3 Hours

Note:- Questlon No. 1 is compulsory, Attempt any other four quesnon All questions carry
equal marks. '

'%:*Wﬁwwaﬁmﬁamaﬁé@mmmaﬁiwﬁwzﬁmﬁ?%ﬂ
Q.No.1. Write brief note:- |
Wl e ford—

(1) Lam pet (e 9e)

(ii) Naksha Gharat (91 ®e)

(iii) .Index-Map (grest #u)

(iv) Naksha Rivajaat Avpashi (e Rarome smaaref}

' (v) Fard Badar (¢ Tw)

(vi) Parcha Yadasht Registry (vaf amarea Rrsh)

(vii) Banj arKadeem (W L)

(viii) Banjar Jadeed (3o we1e) | | | | (@viy= 20

.No.2.

(1) Define the types of measurement (paimaish) and explain each of them.

Ynder Y A fre & | yde @ avi a5y | .8
(i) What records and equipment are required at the time of plaintable survey?
UES! dHISY @ W9g g - Wwamﬁiﬁaﬁi‘wr{@fﬁ%l 6

(iii) How the measurement is carried out of a smgle ﬁeld Define the measurementx’
calculat.lon of held by drawing diagrammed. '

mﬁéﬁaﬁﬂjﬁ‘ﬂm#aﬂw el Bl e g ag@\mw*m*@ﬂ’r?f?rﬂméwa
WWWWWWWI 8

(6+6+8)= 20

PT.O



Q.No.3. Define thé Shajra Kishwaj'.'How inu_ch copies are prepar_ezd_ ofshajraKmhtwar K | .
. ‘whither Shajra Kishtwar is part of record of Rights 0_1_'__Nq't__i_\_W};j(jhfch-ahda's and - e
| othersigns are depicted init. Explafnindetat, . o
| a%w&fﬁé@maﬁ%mﬁﬁis@ﬁzﬁﬁﬁhaﬁ?ﬁmmma'm%ﬂﬁ?mﬁ%[ |
. AR o o | | _ | 0
Q.Nod.

(1) What is Nak:iéha Bartan, explain the rights which are recorded in Naksha Bartan .

TR T R R | T B Qe oo e o ¥ 9 | 10

_(2) Explain in detail regarding calculating the area of different types of shapes and
also draw all types of shapes. ' ' '

aﬁa@m(m} frepre & ﬁﬂﬁaﬁ?ﬁfﬁraﬂ@%ﬂ%ﬁ‘ﬂﬁwﬂaﬁﬁﬁ| 1o
| L (10+10) =20

Q.No.5. Describc the s'equence wise entire process of settlement (Bandobast) carried out
with Triangle system of measurement? '

ﬁ{ﬁﬂ?ﬂﬂﬁﬁﬁﬂqﬁﬁﬁﬁﬁﬂﬁﬁrmmmaﬁmzﬁy" _ 20

Q.No.6,  What is the pi_,l,rpose of Digital India Land Record Modei*n_ization Pr_ogrém
(DILRMP) What is the role of modern equipment such as DGPS and ETS in
Imeasurement and preparation of settlement record? '

%fmﬁag%mﬁ—mﬂf}@eﬂgﬁﬁﬂﬂw TR A, ol %_?mﬁﬁaﬁ&mw&ﬁa
mww#ﬁ%’%mm@am YO

XXXXXX 0y
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Departmental Examination for Kammgo / Patwarls of Revenue Department

mﬁmﬂsmﬁmﬁ/mﬂﬁﬂsﬁvﬁmﬂauﬂm
Paper-3: Arithmetic | UUX-3: 30T~ APR4, 240%
| | Marks:wi,{)(jlm:. 100
- Time: 3 hours | HHI: 3 €

Attempt any 10 questions. |8 10 T4 Fiforw) -

L. (a) What is the area of a circle whose circumference is 44 cm ?
(F) 3 I &1 8T fenctelt & Foraehy aRkfer 44 aar g »
_ | s
- (b) The cost of fencing a circular field at the rate of Rs 24 per metre is Rs. 5280. The .

field is to be ploughed at the rate of Rs. 0.50 per m”. Find the cost of ploughing the
field (Take = 22/7).

(H)@W@Hﬁa‘r@vmm FT AT 24 ¥ Eﬁrﬂtu Eﬁ&?ﬁ 5280 &9 &1 €9
amosow&srf%rﬁaa?rar@wﬁw Bl G H FATE FT @S [T DT (1 = 22/7

F’Pri%ﬂz)l

2. (a) Find the mean of the first 10 natura! nunibers.
(&) UAH 10 UIFd TEATHT &1 AT FIe HITAT |

5
- (b} Find the value of y from the following observations if these are already arranged

in ascending order. The Median is 63.
20,24,42,y,y+2,73, 75, 80, 99

mﬁmﬁymmwﬁﬁuﬁﬁmﬁﬁmwﬁ

wa‘r?‘a?ralaﬁﬂ?rﬁa 2l
20, 24,42,y ,y +2, 73, 75, 80, 99

: 5
3. (a) Find the mode of the following items. R
0,55 1,6,4,3,0,2,5,5,6
&) Tt et o ager < Sifdw |
0,5,51,6,4,3,0,2,5,5,6
' 5

(b) A bag contains a red ball, a blue ball and a yeltow ball, ali the balls being of the
- same size. Kritika takes out a balf from the bag w1th0ut looking into it. What is the

probability that she takes out the

{i) yettow ball? (i) red ball? (iii) blue ball?



-
-

G5 ﬁa’?ﬂ?w dreht 7i ¥, Tl of Wm
¥1 eplevent foe & ;_@WWW%IWHW%%WW%
| (1)tﬁ?~fr3‘i?;‘? o (11)3%1'6{3’!?:."7 (i) Al diee |

(a) A coin is tossed two times. Fmd the probablhty of getting at most one head.

() wﬁwawmm%mﬁmﬁaﬁnﬁmﬁmmaﬁmﬁmm
T

(b} A die is thrown once. What is the probablhty of gettmg a number less than.37
(@) thaﬁwmﬁmm%t 3 ?raﬁ:smu: TTH e Eﬁrcrrfaa?erra-m%ﬁ

5
(a} If the probability of winning a game is 0.07, what is the probabllity of losing it?
(&F) uﬁm@ﬁﬁsﬁaﬁraﬁ‘ruﬁwo 0?% Eﬁ?ﬂﬁamﬁzﬁruﬁmwsv

Sﬁ
(b) The area of a rectangular plot is 528 m?, Thf*" length of the plot (in metres) is one
more than twice ‘its breadth. We need to fi nd the length and breaclth of the plot.
Represent the situation as an equation.

(@ )wwmwmaszsﬁﬁmﬁl c‘mtaﬁrm(aﬂuﬁ)s'azﬁr'
ﬁ@é%aﬁgﬁﬁw%%wﬁwﬁwﬁﬁﬁa@mmﬁzﬁmsw
%lwmﬂw%m#ﬁmﬁwqﬁﬁ%aﬁl

(a} Find two consecutive posilive integers, the sum of whose squares is 365.

(F) Y SFATETT UATCHR r{UﬁEFWHEﬁﬁ’rU %ﬂﬂiwﬁaﬂ?ﬂ‘m 365 %I

3
{b) The sum of the areas of two squares is 468 . If the difference of their per:meters.
ts 24 m, firid the sides of the two squares.

(@) &Y guif % &Awet T AT 468 cm‘rafm%laﬁs'aﬂwﬁm*wmma?m%

ot aret it Eﬁr ajsmr ST |

5
(a) Half the perimeter of a rectangular garden, whose length is 4 m more than its
widlth, is 36 m. Find the dimensions of the garden..

(s)wsﬂmwmﬁamrsﬂwwﬂmq ﬁretﬁrazrrémaﬁrﬂ‘igréﬁmﬁa
341%7% 36m%amﬁa?ﬁruﬁmv—ﬂ?raﬁﬁm

5
(b) Solve ZX + Sym 11 and 2x - 4 y——24 dnd hence Tmcl the vaiue of m’ for whlchy
=mx+3.



1.

12.

*.

(W) 2% + 3y = 1130 2x - *4y=_-24a$rwaﬁ1ﬁtr3mﬁﬁty mx+3ﬂ?%|'tfm€h'r

mwzﬁ‘rﬁm
5

The coach of a cricket team buys 7 bats and 6 balls for Rs.3800. Laler she buys 3 bats
and 3 balls for Rs.1750, Find the cost of each bat and each ball

wmﬁmaﬁﬁﬂmgoomﬁ?a—aﬁmﬂamimﬁ ag 1750 IqF |
3 aea 3K s ﬂ‘&m‘e’:l U qw&ﬁ?ucqmﬁawmmiﬁﬁm |

| 10
Five years ago Nuri was thrice as old as Sonu. Ten years later Nuri wzll be twice as
old as Sonu, How otd are Nuri and Sonu?

afe af agd, 8 @ @ O o 9 ) &w ad A, q&@rm@aﬁaﬂﬁ
g1alr 1 5 3R Eieg & 337 RReen %?

_ 10
A lendmg library has a fixed charge for the first three days and an additional charge
for each day thereafter. Saritha paid Rs.27 for a book kept for seven days, while

Megha paid Rs. 21 for the book she kept for five days. Find the fixed charge and the

charge for each extra day.

T FUR Gl aTer GETHId Wuaﬁm%ﬁﬁﬁvwﬁﬁaﬂﬁﬁmw
e ot o forr oo #faRes Yok &1 aRar & a1g Rt a@ W 78 frar & fow
27 TR T ST Ty, STaR e o Ui Rt qe T € e & fow 21 w0
T ST o | TR Yo AR weden iR Rt & e e ara Aifs |

: 16
Ritu can row downstream 20 km in 2 hours, and upstream 4 km in 2 houts. Find her
speed of rowing in still water and the speed of the current.

R amr & 3rgget 2 6% & 20 Reolt 3 ORT Ui 2 €2 & 4 Rl AT e
THAT ¥ QAT STel 3 SEehr AReT Y a1fer 3 sy it a1fey <y Fifsre |
| o o | 10
(a) Given that HCF (306, 657) =9, find LCM (306, 657).

(éﬁ) ﬁmm%ﬁ'ﬁ'HCF (306, 657) = 9,' LCM_ (306, 657) waa%ﬁ‘mrl

5

(b} Find HCF and LCM of 404 and 96 and verify that HCF x LCM = Produot of the
two given numbers.

4043ﬂt%a?rHCF3mLcmamaﬁ“3ﬂTWf&aaﬁﬁ;HCFx LCM = é’r

_ ﬂéa’fa{sqm’r’c‘ﬁw_;umw ©l
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9uT 0 4
gAY : 03 G
qut 37e: 100

goeT 1: FIEATRTRT & & e v R W e -
(1) TRATIST wSer & U9 Sl &F 39T |

(2) ISTET FAATT FHT Hged Td GUN & 390 |
(3) HAfgamgIfFasoT |

(40+10)

o7 2 TreeRE € U W e F RO B |
(20)

T 3: HIIgEAT W AT # Rue o |
| | (20)

el 4: Hayq i [ECENET
(1) AT I8
(2) @ir &l
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